5% 20%
@) (internal conversion)
(2) (Bremsstrahlung)
€)) (effective half-life)
4) (annual limit on intake, ALI)

(€D (internal conversion)

(@) (Bremsstrahlung)

(©)) (effective half-life)

Te

Tb Tp

4 (annual limit on intake, ALI)
50
500



2.
Gl S
61
G M
3.80 keV X 5.5
1/20 X (HVL)
L — i — e—5.5;1
I, 20
—In20=-55u
_In20 _ 5544
5.5
0693 _, -
0.544
HVL = 1.27 cm
4.%Rn 3.8 1aCi™Rn
1
aN _ N
dt
NoINT_dN T
dt 4 dt 0.693
—37%10%° x10°° x 3.8%x24x60x60
0.693
N =1.753x10%
10
22.4x10° x% =6.53x107 [ml]
6.02x10
10
2025 2198X10 _ ¢ 464102 [g]

6.02x10%

(10%)

(10%)

22.4

0
(10%)

Gl



5. X 100kV

T s 1eV=1.6x107°J) (10%)

E=eV 100 keV.
E=hwv, 1 eV=1.6x10" J, ¢ = AW
h=6.625x10"* J-s=4.14x10™ eV-s
100x10° eV = 4.14x10*eV-s x W

wv= 2.42x10° st
A= c/v = 3x10° ms™ / 2.42x10"° st = 1.24x10" m
6. 1.00 g
cm?s™ 1000 2.00x10° *Co
*Co *Co(n,y) *Co
barn *Co A 58.9
x10%  (10%)
=N dot

N
N = [(1.00x10°)/58.9]x(6.02x10%)

= 1.02x10% atoms *Co

2.00x10° = (1.02x10")x(1.00x10" n cm?s™")ox1000 s

o= (1.96x10* cm?) (barn/10*) = 19.6 barn

7. Zipg By 4.7x10° “ipg
7.0x10°  ®pa U (10%)

N, 4 _(0693/T) T,

N, 4, (0.693/T,) T,
—2 = ng =4.7x10°°
N, 7x10%y

.

, =3.29x10*

X

h=6.625x10J

1.00x10"n

N

100%
O
6.02

235
U



8. 1-131

2 (10%)
1-131 24h 76% 1-131
) 1-131
1-131
9. lcm® 3.336x10™"
Gy ( =1.293kg/m’ W/e=33.85

/) (10%)

(3.336x 10°)(33.85) / (10°%)(1.293) = 8.733x 107 J/kg (Gy)



